Apartment in Birkirkara



Reference No: 240151137-6

Birkirkara, Central



€234,000

Total Rooms: 6

Bathrooms: 2

Floor Area (m²): 91

Bedrooms: 2

Apartment - For Sale - Birkirkara

Birkirkara - Two bedroom apartment forming part of a new block and located in a quiet residential area yet very close to all amenities. Apartment is situated on the third floor and block will be served with lift. Property compromises of a front and back terrace, a large open plan kitchen/living/dining, two good- sized bedrooms - main bedroom with an en- suite and main bathroom. To be sold in advanced shell with common parts finished. Optional garages are available at an extra cost. Very competitive on plan prices!

Features

✓ Lift

Entrance Hall

Balcony

En Suite

Terrace

Rooms

Kitchen/Living/Dining: 4.51 x 6.15 m (27.74 m2)

✓ Bathroom : 2.36 x 1.87 m (4.41 m2)

✓ Box Room : 0.75 x 1.61 m (1.21 m2)

Double Bedroom: 3.24 x 3.53 m (11.44 m2)

Bathroom Ensuite: 3.53 x 1.1 m (3.88 m2)

Double Bedroom : 3.42 x 2.85 m (9.75 m2)

Hallway: 6.72 x 1.1 m (7.39 m2)

Open Space : 3.89 x 1.1 m (4.28 m2)

Open Space : 4.65 x 1 m (4.65 m2)

Gallery





Paul Borg

RE/MAX Edge - Attard

M: 79768062

E: paul@remax.com.mt

T: 21480164

RE/MAX Edge - Attard

4Triq Antonio Schembri, Attard, Malta